
NISSAN
INTERSTAR
                                                                                        
INTERSTAR (X70)                                                                                      07/2002  03/2011-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

45 00 254 

45 00 255 

44 01 910 

44 18 631 

45 01 262 

45 01 263 

444 18 780 

45 00 198 

45 00 199 

Ball Joint Upper 

Ball Joint Lower 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

th:M14x1.5 RHT  cp:1/5 cs:Ø16,1 do:Ø45,5 

c:Ø22   do:Ø43,45 

cp:1/10 cs:Ø16,4  

c:Ø24   do:Ø43,5 

c:Ø16,4 th:FM16x1,5 RHT 

c:Ø16,4 th:FM16x1,5 RHT 

th:MMth:MM14x1.5 RHT L:175,5mm 

L:127,5mm  

L:127,5mm  

10RN1100 

10RN1105 

10RN1110 

10RN1112 

17RN1100 

17RN1101 

20RN20RN1100 

26RN1100 

26RN1101 

26RN1101

9

6

2

26RN1100

17RN1100

10RN1105

17RN110120RN1100

8

7
5

2

20RN1100

-

1

10RN1100 10RN1110

1 3

UPPER

 -- > 08 / 2007
Lower

10RN1105

4

10RN1112

4

09 / 2007 -- >

10RN1112

Lower

10RN1110 10RN1100



NISSAN
JUKE
                                                                                        
JUKE (F15E)                                                                                                         06/2010 >-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54500 1JY0A* 

48640 4FJ0A 

48520 4FJ0A 

54618 BA60A 

54501 1KA0A 

54500 1KA0A 

54500 JD000*54500 JD000* 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

TCA Left 

TCA Right 

Silentblock Silentblock for TCA 

c:Ø18   do:Ø38,35 

c:Ø 11,8 th:FM12x1,25 RHT 

c:Ø 11,8 th:FM12x1,25 RHT 

L:284mm  

 

 

di:Ø12,2 do:Ø58di:Ø12,2 do:Ø58 

10NS1200 

17NS1200 

17NS1201 

26NS1200 

30NS1200 

30NS1201 

38NS38NS1001 

4

3

1

6

7

2

26NS1200

17NS1201

10NS1200

30NS1201 

1

10NS1200 38NS1001

17NS1200

26NS1200

5

30NS1200 



NISSAN
KUBISTAR
                                                                                        
KUBISTAR (X76)                                                                                       07/2003  10/2009-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 472 038 

77 01 047 415 

77 01 047 416 

77 01 472 120 

77 00 799 404 

82 00 197 187 

82 00 82 00 197 179 

77 00 424 399 

77 00 829 529 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

TCA Left 

TTCA Right 

Silentblock for TCA 

Strut Mount 

c:Ø16    

c:Ø12 th:FM14x1,5 RHT 

c:Ø12 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:303,5mm 

L:68mm Plastic 

 

  

di:Ø12 do:Ø45,5 

 

10RN2000 

17RN5520 

17RN5521 

20RN3410 

26RN3410 

30RN2000 

30RN2030RN2001 

38RN2000 

45RN2000 

1

8
6

10RN2000

1

10RN2000

38RN2000

20RN3410
17RN5520

2 3

7

4

5

20RN3410

26RN341026RN3410

30RN2001 30RN2000 

17RN5521

9

45RN2000 45RN2000

9



NISSAN
LEAF
                                                                                        
LEAF (ZE0)                                                                                                          11/2010 >-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

54500 1JY0A* 

48640 4FJ0A 

48520 4FJ0A 

54618 BA60A 

54501 1KA0A 

54500 1KA0A 

54500 JD000*54500 JD000* 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Stabiliser Link 

TCA Left 

TCA Right 

Silentblock Silentblock for TCA 

c:Ø18   do:Ø38,35 

c:Ø 11,8 th:FM12x1,25 RHT 

c:Ø 11,8 th:FM12x1,25 RHT 

L:284mm  

 

 

di:Ø12,2 do:Ø58di:Ø12,2 do:Ø58 

10NS1200 

17NS1200 

17NS1201 

26NS1200 

30NS1200 

30NS1201 

38NS38NS1001 

4

3

1

6

7

2

26NS1200

17NS1201

10NS1200

30NS1201 

1

10NS1200 38NS1001

17NS1200

26NS1200

5

30NS1200 



NISSAN
MICRA
                                                                                        
MICRA (K12)                                                                                                11/2002  06/2010
MICRA (K12 E)                                                                                    08/2004  06/2010
        

                       

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

40 16 047 93R 

77 01 475 843 

77 01 475 842 

77 01 475 841 

82 01 079 463 

82 00 183 569 

Ball Joint Left & Right 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø16   do:Ø38,35 

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:307mm 

L:248mm  

di:Ø12,1 do:Ø35,8 

10NS1100 

17RN5550 

17RN5551 

20RN5550 

26RN5550 

38RN5544 

K12 E > 08/2007

20RN555020RN5550
17RN5551 17RN5550

10NS110038RN554410NS1100

4

3 2

5

161

26RN5550 26RN5550



NISSAN
MURANO
                                                                                        
MURANO (Z50)                                                                                        08/2003  06/2008

                                                                                        
MURANO (Z51)                                                                                        11/2007 - 09/2014

-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 54 50 404 45R*Ball Joint Left & Right c:Ø20   do:Ø41,310NS1000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54668 1AA0A 

54618 1AA0A 

Stabiliser Link Left 

Stabiliser Link Right 

L:299mm  

L:299mm  

26NS1000 

26NS1001 

1

1 2

10NS100010NS1000

26NS1000 26NS1001



NISSAN
NOTE

NV200 - EVALIA

                                                                                        
NOTE (E11)                                                                                             03/2006  08/2013

                                                                                        
NV200-EVALIA (M20_)                                                                                           08/2009 ->
e-NV200 (ME0)                                                                                             05/2014 ->

        

                       

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54500 1JY0A* 

48640 4FJ0A 

48520 4FJ0A 

82 00 183 569 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Silentblock for TCA 

c:Ø18   do:Ø38,35 

c:Ø 11,8 th:FM12x1,25 RHT 

c:Ø 11,8 th:FM12x1,25 RHT 

di:Ø12,1 do:Ø35,8 

10NS1200 

17NS1200 

17NS1201 

38RN5544 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
40 16 047 93R 

82 00 183 569 

Ball Joint Left & Right 

Silentblock for TCA 

c:Ø16   do:Ø38,35 

di:Ø12,1 do:Ø35,8 

10NS1100 

38RN5544 

32

17NS120117NS1200

10NS110038RN554410NS1100

12

38RN5544

4 1

10NS1200

1

10NS1200

1



NISSAN
NV400
                                                                                        
NV400 (X62)                                                                                                        11/2011 >

-
-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

44 19 219 

44 23 894 

44 20 097 

44 20 098 

44 20 096 

44 19 291 

444 19 218 

44 19 217 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock for TCA 

Silentblock for TCA 

th:M16x1.5 RHT  cp:1/5 cs:Ø18,1 th2:M45x1.5 LHT 

th:M16x1.5 RHT  cp:1/5 cs:Ø18,1 th2:M45x1.5 RHT 

c:Ø16,4 th:FM18x1,5 RHT 

c:Ø16,4 th:FM18x1,5 RHT 

th:MM16x1,5 RHT L:253mm 

L:330mm  

di:Ødi:Ø16,2 do:Ø70 

di:Ø16,2 do:Ø49 

10RN1120 

10RN1121 

17RN1120 

17RN1121 

20RN1120 

26RN1120 

38RN38RN1020 

38RN1030 

26RN112026RN1120

20RN1120
17RN1120 17RN1121

6

5
3 4

6

20RN1120

10RN1121

8

7

21

38RN1020

38RN1030

10RN1120



NISSAN
PRIMASTAR
                                                                                        
PRIMASTAR (X83)                                                                                     03/2001  12/2014

-
-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

77 01 476 576 

77 01 477 385 

77 01 049 282 

77 01 049 283 

77 01 473 333 

82 00 661 217

82 00 82 00 247 898 

82 00 247 900  

93 861 803 

Ball Joint 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link

TTCA Left 

TCA Right  

Stabiliser Mounting 

th:M16X1.5 RHT  cp:1/5 cs:Ø17,9  

th:M16x1.5 RHT  cp:1/5 cs:Ø17,9  

c:Ø11,9 th:FM14x1,5 RHT 

c:Ø11,9 th:FM14x1,5 RHT 

th:MM12x1.0 RHT L:261,5mm 

L:280mm

   

di:Ø23  

10RN0510 

10RN5310 

17RN0510 

17RN0511 

20RN0520 

26RN0510

30RN030RN0516 

30RN0517  

38OP7000 

9

6

2

1

8

38OP7000

26RN0510

38OP7000

6

20RN052020RN052017RN0510 17RN0511

10RN5310

5

3 4

26RN0510

12 / 2006 -->
Cast Iron WB

 --> 12 / 2006
Sheet Metal WB

2

1

10RN5310

10RN0510 10RN0510

30RN0517 

7

30RN0516 



NISSAN
PRIMERA
                                                                                        
PRIMERA (P10  W10)                                                                              06/1990  06/1996- -

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 40160 50A00*Ball Joint Left & Right th:M14x1.5 RHT  cp:1/6 cs:Ø14,9 do:Ø38,110NS00

1

10NS00 10NS00

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 40160 50A00*Ball Joint Left & Right th:M14x1.5 RHT  cp:1/6 cs:Ø14,9 do:Ø38,110NS00

1

10NS00 10NS00

                                                                                        
PRIMERA (P11)                                                                                           06/1996  12/2001
PRIMERA TRAVELLER (WP11)                                                                04/1998  12/2001

        

                       

-
-



NISSAN
PULSAR
                                                                                        
PULSAR (C13)                                                                                                   08/2012 ->

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

54500 1JY0A* 

54618 BA60A 

54501 1KA0A 

54500 1KA0A 

54500 JD000* 

Ball Joint 

Stabiliser Link 

TCA Left 

TCA Right 

Silentblock for TCA 

c:Ø18   do:Ø38,35 

L:284mm  

 

 

di:Ø12,2 do:Ø58 

10NS1200 

26NS1200 

30NS1200 

30NS1201 

38NS1001 

2

26NS1200

1

4

5

10NS1200

1

10NS1200 38NS1001

30NS1201 30NS1200 

3

26NS1200

-
-



NISSAN
QASHQAI
                                                                                        
QASHQAI (J10E)                                                                                         02/2007  12/2013
QASHQAI+2 (JJ10E)                                                                             10/2008   12/2013
        

                       

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54500-BB00A 

48647 JD01A 

48527 JD01A 

D8521 JD00B 

54668 4CB0A 

54618 4CB0A 

54500 JD000*54500 JD000* 

54500 JD000* 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock Silentblock for TCA 

Silentblock for TCA 

c:Ø20   do:Ø41,3 

c:Ø11,7 th:FM14x1,5 RHT 

c:Ø11,7 th:FM14x1,5 RHT 

th:MM22x1.5 RHT L:234mm 

L:299mm  

L:299mm  

di:Ø32,5 di:Ø32,5  

di:Ø12,2 do:Ø58 

10NS1000 

17NS1000 

17NS1001 

20NS1000 

26NS1000 

26NS1001 

38NS38NS1000 

38NS1001 

20NS1000 20NS100017NS1000 17NS1001

10NS1000

38NS1000

38NS1001

4

2 3

5 6

1

7

8

10NS1000

1

26NS100126NS1000



NISSAN
QASHQAI

SUNNY

                                                                                        
QASHQAI II (J11, J11_)                                                                                        11/2013 ->

                                                                                        
SUNNY II  (B12,N13)                                                                               06/1986 - 09/1990

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

54500-BB00A 

54618 BA60A 

54500-BB00A 

54618 BA60A 

Ball Joint 

Stabiliser Link 

TCA Left 

TCA Right 

c:Ø20   do:Ø41,3 

L:284mm  

c:Ø20   do:Ø41,3 

L:284mm  

10NS1000 

26NS1200 

30NS1000 

30NS1001 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 40160 50A00*Ball Joint Left & Right th:M14x1.5 RHT  cp:1/6 cs:Ø14,9 do:Ø38,110NS00

1

10NS00 10NS00

2

26NS120026NS1200

10NS1000

30NS1001 

1

4

30NS1000 

3

10NS1000

1



NISSAN
TEANA

TIIDA

                                                                                        
TEANA II (J32)                                                                                         07/2008  12/2013

                                                                                        
TIIDA HATCHBACK (C11X)                                                                         09/2007  12/2013
TIIDA SALOON (SC11X)                                                             

        

                       

-

-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54668 4CB0A 

54618 4CB0A 

Stabiliser Link Left 

Stabiliser Link Right 

L:299mm  

L:299mm  

26NS1000 

26NS1001 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
54500 1JY0A* 

82 00 183 569 

Ball Joint 

Silentblock for TCA 

c:Ø18   do:Ø38,35 

di:Ø12,1 do:Ø35,8 

10NS1200 

38RN5544 

38RN5544

2 1

10NS1200

1

10NS1200

1 2

26NS100126NS1000



NISSAN
X-TRAIL
                                                                                        
XTRAIL (T31)                                                                                            06/2007  11/2013

-

-

-

-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

54500-BB00A 

48647 JD01A 

48527 JD01A 

D8521 JD00B 

54668 4CB0A 

54618 4CB0A 

54500 JD000*54500 JD000* 

54500 JD000* 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link Left 

Stabiliser Link Right 

Silentblock Silentblock for TCA 

Silentblock for TCA 

c:Ø20   do:Ø41,3 

c:Ø11,7 th:FM14x1,5 RHT 

c:Ø11,7 th:FM14x1,5 RHT 

th:MM22x1.5 RHT L:234mm 

L:299mm  

L:299mm  

di:Ø32,5 di:Ø32,5  

di:Ø12,2 do:Ø58 

10NS1000 

17NS1000 

17NS1001 

20NS1000 

26NS1000 

26NS1001 

38NS38NS1000 

38NS1001 

20NS1000 20NS1000
17NS1000 17NS1001

10NS1000

38NS1000

38NS1001

4

2 3

5 6

1

7

8

10NS1000

1

26NS100126NS1000


